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Question: 1 
   
The total downstream bandwidth of the 10G EPON PONI port is the sum of the EPON downstream 
bandwidth and the 10G EPON downstream bandwidth. 
 
A. True 
B. False 
 

Answer: A     
 

Question: 2 
   
(Radio) 10G GPON system downlink wavelength is 
 
A. 1310nm 
B. 1577nm 
C. 1270mm 
D. 1490nm 
 

Answer: B     
 

Question: 3 
   
The maximum spectroscopic ratio supported by 10G GPON is (Radio) ? 
 
A. 1:64 
B. 1:256 
C. 1：128 
D. 1：32 
 

Answer: C     
 

Question: 4 
   
In the evolution of EPON to 10 G EPON, a smooth transition is achieved at the local level by adding WDM 
WDM modules, and ODNs coexist 
 



A. True 
B. False 
 

Answer: B     
 

Question: 5 
   
The complete SIP message interaction process will contain multiple request and response messages, and 
the sIP message header field can be used to describe what the specific solution corresponding to the 
current response message is 
 
A. Csea 
B. CaLL-ID 
C. First line 
D. Message body 
 

Answer: A     
 


